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However hence in a sentence

You can use from here at the beginning of the sentence, but not so. Because that means because it has to come after the case. If you want a conjunction that can come before the cause, use it from. Since | don't feel good, | can't work. | don't feel good, so | can't work. | don't feel good; that's why | can't work. | don't feel good. That's why | can't work. | can't work because | don't feel
good. As Neil Coffey said, from here it may sound a bit formal. (I wouldn't say it's very formal, just a bit more formal than, say, since.) | think the most natural-sounding way to tell your boss that you're sick would be something like this: | don't feel good, so | can't come today. Tip: See my list of the most common errors in English. It will teach you how to avoid mistakes with commas,
prepositions, irregular verbs, and more. Since you are reading this article in English, the courses are already know what the conjunction means anyway. You probably also know that yes, because, and hence it basically means the same thing as yes, and you wonder what the difference is. If this is the case, this article is just for you. Before moving on to individual words it should be
noted that yes, therefore, and hence are rather formal and much more common in writing than in the daily conversation, where they are almost always replaced by yes. Anyway, the most important difference between yes and yes is that it is a conjunction (which means and because of it, and because of it), while it is an e-word (synonymous as a consequence). For example, the
sentence He is not satisfied, so we need to prepare a new proposal. you can prescribe using yes as follows: correct Is not satisfied. We must therefore prepare a new proposal. correct He is not satisfied; we therefore need to prepare a new proposal. correct He is not satisfied, and (,) thus (,) we need to prepare a new proposal. badLy He is not happy with him, so we need to
prepare a new proposal. Yes, it is usually separated from the rest of the sentence by commas, but commas are often omitted if this would lead to three commas in a row (as in the third example). The last example is not correct because two independent clauses cannot be combined anyway. This also has a different meaning: in this way, yes (in which case it does not introduce a
clause). For example: They have developed new technology, enabling them to reduce costs. The comma here was appropriate because what follows is not a clause. This is only an expression in parentheses extending the previous clause. Hence, as so, hence it is an e-visitor rather than a conjunction, so it cannot attach to two independent clauses (note that this is more skip
commas around from here than after so in formal form): correct Is not satisfied. Therefore (we) need to prepare a new proposal. correct He is not satisfied; therefore (we) need to prepare a new proposal. badLy He is not satisfied, so we need to prepare a new proposal. Hence, used in this sense is rather rare, and such use is maintained mainly in specialized fields, such as
scientific writing. However, there is another, more common meaning from here that replaces the verb, but it is not a clause in itself and is always separated from the rest of the sentence by a comma: Our server was down, hence the delay in response. Chemicals cause the rain to become acidic, hence the term acid rain. As you can see, hence it replaces expressions such as what
leads to or what is the reason. Therefore, finally, it is therefore also an appendor means as a logical consequence. It is mainly used in arguments when one statement logically follows from another, and it is common in scientific literature. Again, style guides are usually recommended to set it with commas, but when it break the natural flow of sentences, most authors tend to skip
commas: correct two lines intersect. Therefore, (,) are not parallel. two lines intersect correctly; therefore(,) are not parallel. correct Two lines intersect and(,) therefore(,) are not parallel. wrong Two lines intersect, so they are not parallel. Some argue that this is why it functions perfectly like a conjunction (like this) and separating it with a comma instead of a semicolon is acceptable.
However, none of the major English dictionaries (such as the Oxford English Dictionary or Merriam-Webster) support such use. It should be noted that it therefore does not sound natural when there is no clear logical link between the two statements, especially in an informal context. In such cases, use this: the correct trip was canceled, so instead | visited my grandmother.
unnatural Journey has been cancelled; that's why | visited my grandmother instead. A simple way to precisely distinguish and use these words: 1. This means in this/this way - refers to HOW - the way in which - whether there and more happens or happen. It has a practical taste. Eg. Traditionally, organize things in this way = Traditionally, this is how to organize things 2 .’
Therefore, it means for this reason or for this reasoning or that - refers to deductive reasoning, tells why it is whether it is so, or it happened. For example, he was late and therefore late for the bus = he was late and therefore late for bus 3. Hence means from this/that - refers to WHERE - position or point in time; it says where and what, or where and what, something comes, moves
out, or goes e.g. -i. Download From here! = Get away from here! -ii. From now on, all entrances will be guarded = From now on all entrances will be guarded -iii. She got a job - hence her good spirits = She got a job, and her good spirits stem from this fact. (Pay attention to another bevel to therefore, which would also fit, but would say: her good spirits are caused (because; for
this reason) . The roads were covered with ice; therefore it was not safe to drive. The customer was unhappy with her meal, hence the chef prepared a replacement. Hence, the Mediterranean region is a characteristic one of the winter rains, the characteristic feature becomes less sharply defined from south to north, and the amount of total annual decline increases in the same
direction. Each part of the underground rhizome after breaking is able to produce a new plant; difficulties in eradicating them when they have been established. ALF, from 1986 to 1990, featured a puppet alien (or Alien Life Form, hence the akroynm), and from 1996 to 2001, the 3rd Rock From the Sun featured extraterrestrial groups trying to pass on as a typical sub-city family.
Therefore, the management of traffic passing through them will achieve these objectives. Hence the converted. The cups are placed symmetrically at the end of the shoulders and it is easy to see that the wind always has a hollow one cup; the back of the cup at the opposite end of the cross also faces the wind, but the pressure on it is naturally smaller, and therefore a constant
rotation is formed; Each cup in turn, when the round comes providing the necessary strength. It is not possible to connect each subscriber directly with all others, hence the exchange system has been adopted. Roots, like all other parts of plants, contain protoplasm or living material that cannot perform its functions unless it is supplied with an adequate amount of oxygen: hence
the need for continuous circulation of fresh air through the soil. Therefore, there are advantages in the use of a very loose coupling. Together we agreed that verboten was the subject of our tests until we were able to meet again within three weeks. Hence, according to trains, oscillations are long or short, so there is a sound audible on the phone, and these sounds can be
arranged on Morse code in alphabetical beeps. Hence it is called 7roXuis,. Morse's form of recorder is almost widely used in Europe makes a record in ink and is therefore sometimes called ink-writer.. Hence the Erastus Treaty. Hence it still seems best to take some unknown aramaic form equivalent to 7rapaicX y as, and then take the latter in terms of comfort or encouragement.
Therefore, when useful work can be obtained from the system, simply by combining the visible parts of it with the train mechanism, it is more easily recognized than what would force us to control the behavior of molecules before we can turn them into useful work. However, if the antenna is inductively or directly coupled to a high-capacity condenser circuit, the amount of energy
that can be stored before discharge is much greater and can therefore be taken to create long-lasting or slightly dampened wave trains. 3 Hence Ashtaroth or the offspring of herds in Deut. It is connected by the Zederik and Merwede canals to Amsterdam, and steamers run in every direction. He therefore concluded that the amount of heat fed into the engine condenser when the
engine is running must be less than when the same amount of steam is blown out by the engine without any operation. Hence, this part of the country has a cold winter climate, so that while the average summer temperature in Milan is higher than in Sassari, and equal to Neapolitan, and the extremes achieved in Milan and Bologna are much higher than in Naples, the average
winter temperature in Turin is actually lower than in Copenhagen. The heart lies in front of, not on the side, the attachment of ctenidium - hence Opisthobranchia as opposed to Prosobranchia , which correspond to Streptoneur. Hence the malaise of both the mind and the body. Hence, as D. Therefore, in England they were known as grey amices (from the usual colour of fur) to
distinguish them from liturgical amice. In the latter case, the sign is determined by -I raised to the same power as before, except tux., replaces Tusk; but if one of these numbers is even the other must be uneven; hence A ik = - Aisi¢ 1/2 rk In addition, aik a,, aikarsAik +aisarkAis Aik, rk aik ars rs where the determining factor is giyen by four points where the removal lines intersect.
Hence, any product A 1, A2, A3, A4 that contains product A 4 A 3 disappears before reduction; that is, each seminvariant whose partition contains parts 4, 3, is persisted. This change of load caused an appropriate change in the mutual attraction of condenser plates; therefore, the flexible plate was made to copy the vibrations of the transmitter membrane. bin respectively, so A11
=00 ... However, the victim of desaralisation is also found; hence MM. Demeter, dressed in black (hence yEXaiva) in a sign of mourning for her daughter and anger with Poseidon, retired in a cave. As a result, these measures have become issues in which the first pages of the United States have emerged. Hence its name Curtea, court. Previously, the sun had to reach a place
where Neptune now rotates at the limits of our system, but the mass of the sun could not pass the expansion so miraculous, not being much more thin than on and that is why we are guided by this way of reasoning to the concept of the primary nebula from which our system originates. Therefore, through a comprehensive comparative study of the Eastern peoples, both in ancient
and modern times, it is possible to supplement and illustrate within certain limits our direct knowledge of the early Jews, and thus a clearer understanding of those characteristics that were [the history of the Old Testament characteristic of them, in relation to those which they shared with other oriental nations. Therefore, it is worth noting that the late editor of the Judges gave the
first place Othniel, Kenizzite, and therefore edomite affinity, although later recognized as Judean (Court i. Hence the various reconstructions of the earlier history, with all their innate weaknesses. Therefore, in the absence of more complete external evidence, the limitations of historical criticism of the Old Testament must be recognised, even though this recognition means that
positive reconstructions are more uncertain than negative conclusions. Therefore, although this procedure made the Jews intensely hideous to the nations, they became all the more necessary for the rulers. Therefore, the Jews are in no way organized on the international stage. White soon returned to England in search of supplies, and after being detained there until 1591 he
found no trace of the colony upon his return except for the word Croatan etched on a tree; hence the colony was to depart from some friendly Indians, possibly the Hatteras tribe, and proof of the assumption that these whites mingled with the Indians is sought after in the presence in Robeson County of mixed people with Indian habits and occasional English names, calling
themselves Croatans. barcaruola, boat song), actually a musical term for songs sung by Venetian gondoliers, and therefore for instrumental or vocal composition, usually in 6-8 time, written in imitation of their characteristic rhythm. Hence the head of the Babylonian Jews was an exejsz (in the Aramaic Resh Galutha). Hence, speculative statements of mysticism are always more
or less pantheistic in nature. Therefore, where reason is rejected by mysticism, it is only a reason that will pass on itself; appears at the end, not at the beginning of his speculation. Sea soap. - These soaps are so hamed because they are not insoluble in a strong saline solution; therefore form foam and can be used for washing with sea water. The sum of money (aes equestre)
was given to each eques for the purchase of two horses (one for himself and one for the groom), and another sum for their maintenance (aes hordearium); hence the name equites equo publico. The central eyes are straight eyes, that is, they have one lens and thus are called monomeniscous. The disciples had no historical sense and little historical information; therefore fell into
one error after on the basic elements in the rorm of ordination. Hence lutheran churches show a great diversity of constitutions. Hence they are called phyllidia (fig. Hence his hesitations and vacillations, which Cavour constantly worked to overcome. Hence, such trachea are established only in organs, the growth of which has ceased in length. The previous ban prevented hapless
people from selling their goods, which therefore fell to the Inquisition. - The families of beetles included in this group are distinguished by having six malpighian tubes and a large reduction of one or two segments of tarsal, so that there seem to be only four or three segments in each foot; hence the names Tetramera and Trimera previously used for them. Hence their attachment to
Peisistratus, the man of the people who urged them to sweep away the last barriers that separated the rich and poor, the nobility and ordinary people, the city and the village. In this regard, he seems to have encouraged agriculture by reducing the tax on small farms and even by helping them with money and stocks. Therefore, although wages are painfully low, the cost of
production for the producer is relatively high; and is further increased by the cost of raw materials, by high transport rates due to distance from the sea, capital efficiency and fuel scarcity. Hence, family quarrels became very common. As a result, he attacked Motya and Panormus and the rest of Punic Sicily. Therefore, Caesar seems to attribute more extensive functions to the
druidom than they actually possessed. They were very conservative from ancient traditions in general, and so chiliasm survived among them until a later date than in Alexandria or Constantinople. As a result, land consecrations had to be much easier and much more continuous than they are today. No wonder, then, that in those more subtle forms in which energy cannot be easily
or completely transformed into work, the universality of the principle of energy, its behavior in terms of quantity, should long belittle recognition after it has become known in pure dynamics. Hence, the work done in lifting the mass will be represented by mg v 2 /2g, that is, Zmv 2 ergs. He succeeded, not only by showing that such a difference exists, but in the measurement, and
thus determining the tolerably approximate value of the mechanical heat equivalent. Continuing this process, each unit of mass that enters B will carry with it more energy than any unit that leaves B, and therefore the gas temperature in B will be raised and the gas temperature in A lowered, while the heat will not be lost and the energy will not be consumed; so that, by applying
the interview itself, part of the gas of uniform pressure and temperature can be sewn into two parts in which both temperature and pressure are different and from which, can be achieved at the expense of heat. Accordingly, the Code allowed for the reservation in the marriage contract that the wife should not be seized for her husband's pre-wedding debts; but he enacted that
then he was not responsible for her pre-wedding debts, and in any case that they were both together responsible for all debts instricted after the wedding.. (13) it appears from equation (13) that the angle of immersion depends solely on the speed of the vessel; therefore, when laying the cable on an irregular bottom, it is very important that the speed is low enough. A set of
apparatus is connected to each group; hence, during the total rotation of weapons, a pair of instruments (at station A and station B) will be in communication four times, and the intervals in which each specific set of instruments at two stations are not much smaller with each other than in the case of figs. Therefore, to send dots and dashes, reverse short duration currents are sent
across the line, but the interval between reversals is three times better for the dash as for the dot. The reflection process in the case of wave movement involves the condition that the wavelength is small compared to the dimensions of the mirror, and thus an attempt to reflect and converge the electric waves loon ft. Therefore, we often meet with forms that came out of the
language that was used at the time they were enged, next to their counterparts in that language. The resistance of the microphone can therefore be made from a large part of the total resistance of the circuit in which it is placed; Therefore, with the help of significant currents, slight differences in its resistance can be made in order to induce slightly strong currents in the wire.
Therefore, this operator, when signaled in the usual way, can put one of these subscribers in connexion with any subscriber anything, without having to call another operator to connexions. The central range here is much closer to the sea, and therefore, with a few exceptions, the rivers that flow from it have short courses and are relatively minor in importance. Hence the tacit
agreement between Bismarck and Austria that the latter should take advantage of the Italian reluctance to France to drag Italy into the orbit of the Austro-German alliance. annus, year; from here annales, sc. libri, annual records), the name given to a class of writers of Roman history, whose literary activities lasted from the Time of the Second Punic War to sulla. Therefore, if all
the energy supplied to the train is used on one axle, there is a basic relationship RV (I) Continuing with the above arithmetic illustration, if the wheels to the axis to which the torque is 10 000 ft. Hence engine resistance, R e = 80 X20 = 1600 Ib Vehicle resistance, R v =200 X8.5 = 1700 Train resistance, R = 3300 Speed, 40 m. Hence, if the train goes up gradient at v ft speed.
Therefore, assuming the mechanical efficiency of the engine is and replacing! Therefore, if p is the maximum value of the mean effective pressure corresponding to approximately 85 % of the boiler pressure, uW = pd 2 le /D (26) is an expression giving the relationship between the total weight on the coupled wheels, their diameters and the size of the cylinder. Per hour, the pulling
force drops to 7400 Ib, and this can not be increased, except by increasing the burning speed (neglecting any slight changes due to the change in performance 7 Knowing the size of the R, pull-bar pull, and thus the weight of the vehicle the engine can pull at this speed, you can estimate if the resistances are known. Therefore, for a horizontal road, the above load can be towed at
60 m. The enabling speed during a long journey is obviously different from the average speed due to the working time at intermediate stops; The fewer stops, the easier the speed of switching increases, hence the advantage of uninterrupted routes 150 and zoo m. Therefore, less non-gas mass must be fouled for each tonne of payment load. Homogenesis simply means that such
an organism is formed directly from the parent organism of the same breed, that is, from the same species, subspecies, genus and so on. God was originally a stranger, taken to relatives by the rite of blood fraternity, and this represents a dark point of theory; Robertson Smith believes the blood bond is relatively late; hence we do not see how God became associated with
relatives. Thanksgiving, blessing, and sacrifice were coordinated terms. Hence the Talmudic principle: Man will not taste anything before blessing (Tosephta Berachoth, c. 4), and therefore the words of St. Paul: The one who devours them, because he thanks God (Rom. The torso line built by the Franco-Belgian syndicate connects Lu-Kou-ch'iao, the original end, with Hankov -
hence the name Lu-Han, which is referred to as this trunk line, Lu is short for Lu-Kou-ch'iao and Han for Hankov. It lies on the main line between Bologna and Milan and is connected by branch lines from Guastalla and Sassuolo (hence the line to Modena). The Eleusis Demeter was revered as the introduction of all the blessings that agriculture brings on its train — permanent
housing, civil order, marriage and peaceful life; hence its name Thesmophoros, bringer law and order, and the festival Thesmophoria. Hence the negative theology that rises from creation to God, dropping one by one every particular predicate, leads us closest: truth. Intellect combines what separates understanding; hence Nicolas teaches the principle of coincidentia
contradictoriorum. When the fungus is elsewhere than in the nest of ants, it produces gonidia instead of the white masses on which the ants feed, hence it seems that these masses are actually produced as a result of some unknown cultural process. Shelving gradually upwards from Siberia's low-rise apartments, the overall continental level rises to the great central water supply,
or divide, which stretches from the Black Sea through Elburz and Hindu Kush to the Tian-shan mountains of the Pamir region, and thus to the Bering Strait to the extreme northeast. causes an accumulation of air over the cold area, a decrease in barometric pressure, which occurs throughout Asia during the summer months, and an increase in winter, are therefore, without a
doubt, the results of alternative heating and cooling of air over the continent. The heated part of the air transferred from the Indian Ocean over southern Asia through the southwestern monsoon appears very charged with watery steam, and thus able to release a large body of water like rain on land as soon as it is brought to circumstances that lower its temperature to a significant
degree. Hence, Asian history has large and simple contours. Therefore, there is clearly a deep-seated difference between the religious feelings of both continents. Confucianism is an ethical system, not a religious one, and therefore was able to coexist, though not on very friendly terms, with Buddhism, which reached China around the 1st century BC. , sending, for example, a
Greek sculpture to India and the cult of Mitra to Western Europe. It is men, tioned, that in Nereids sexual form occurs, which differs structurally from asexual worms, and was originally placed in a separate genus, Heteronereis; hence the name Heteronereid for sexual worm. Hence, this term applies to states where the highest authority is imposed on one person, the monarch, who
himself is the permanent head of state. Therefore, it must always be rigorously checked, where other authorities exist dry used with caution, where it is our only informant. gradual, or belonging to degrees or degrees; step), progress or progress by degrees or step by step; hence used slow progress or mild declivity or slope, as opposed to steep or precipitation. From here we see
two currents of trend in Getica. Mahratta elders hence the uttered prophecy of a military catastrophe that was eventually more than fulfilled. The Sicilians claimed to be the first on which Demeter gave the gift of corn, and thus honored the two goddesses with many festivals. Hence the nations of antiquity attributed its divine origin; Brahma in Hindustan, Isis in Egypt, in Greece and
Ceres in Italy, were its founders. Ireland had six times as many sheep. The cattle population in England alone has slightly exceeded the population of Ireland, but cattle are more at home in the vast plains of England than among the hills and mountains of Wales and Scotland that are suitable for sheep. Therefore, while in England sheep were not three times more than the faetus,
in Wales they were almost five times, and in Scotland almost six times more. The purpose of this measure is to replace 1 in 1903 with two main sources of supply of mutton sent over their export surplus, to which they suffered severely in 1904 - hence the slightly irregular movements after 1903. , it should - provided that food is not abnormally deficient in nitrogenous substances -



be characteristically dependent on the supply of digestible and non-nitrogenous ingredients available. Therefore, as the current fattening food feeds go - assuming, of course, that they are not exceptionally low in nitrogenous ingredients - they are, as food, more valuable in proportion to their richness in digestible and available wasteland than their nitrogenous ingredients. Mill's
work at India House, which has since been his livelihood, was not before the public; hence some saw his political writings as the work of an abstract philosopher who was completely unseen in matters. Hence the ius Quiritium in Roman law is full of Roman citizenship. Then the term lost military ties because of the original concept of the people as the body of warriors and was
applied (sometimes in a depreciating sense, cf. Even in Christology, where he treats the historical Christ, he considers critical considerations; hence it is not entirely for nothing that after the times he was suspected of the ebonic views of the person of Christ. He was one of the representatives who made peace with Lubecki at the Hamburg congress and then actively participated in
the great national reconstruction effort that was necessary by the Reformation, acting as a mediator between the Danish and German parties, which competed for 2 Hence another of the names - hurricane-bird - through which this species is known from time to time. In fact, they were non-adaptive beings, and so they quickly became extinct. Hence there are various
misconceptions, such as belief in revelation, which not only harms the moral as feudalism has passed from the age of supremacy to the age of decline, its habits tend to crystallize in solid forms. Hence, when the rupture occurred, the fleet was already at its stations in the North Sea and Adml. This good in the realization of personal character; hence the last good, i.e. dpoE,
pickaxe, and therefore applied to the animal), the scientific name of a group of african antelopes of relatively large size with long straight or scimitar horns, which are present in both sexes, and long tails. Platy minerals also have an excellent distribution parallel to their flat surfaces, while fibrous species often have two or more necklines on long axes; hence, schistose rock can be
divided not only by separating mineral plates from each other, but also by splitting parallel minerals through their substance. The difference between schists and gnejsid is mainly that the latter have less developed filming; as a rule, they are also more coarse and contain much more quartz and felspar, two minerals that rarely assume plats or acicular forms and therefore do not
lead to the production of a fissile character in rocks in which they are important components. From these facts it appears that the front three divisions of the head are significantly different from the posterior three, which very much resemble segments of the chest; therefore it was thought that it was possible that the front divisions could represent a primitive head, to which three
segments and leg-like appendages were subsequently added, forming the head in its current form. Hence the opinion that histolysis is a process of phagocytosis. Therefore, we are inclined to look at imaginary disks as cellular areas that possess latent growth and development powers that exist in the embryo, powers that become visible only under certain specific conditions of the
body. Many species are in the process of extinction, due to the extensive changes that are taking place in the natural conditions of the world by expanding the human population and cultivation and by destroying forests; therefore, it is likely that a significant proportion of existing species will now disappear from the earth's surface before any specimens of them have been
discovered or preserved. Hence the grouping of Hexapod's winged orders into the Division of Exopterygota and Endopterygota, as D suggests. and his personal observations made in many countries, from England to Egypt, allowed him to avoid most of the puerilities that disfigure other works of his own or the previous century. Hence it is that Gmelin appears as an organ for so
many nomenclatures now in use. The main theory he thus justified himself was that instead of five (as stated) the maximum number of ossification centres in the bridge, not less than nine are part of the ideal bird bridge at all, although in species that some of these nine desire, regardless of the condition for development at the time of the study. Hence, it became obvious that a
highly respected classification can be found, in which characters derived from these bones play a rather important role. Hence his efforts, commendable as they were from several points of view, and especially with regard to certain details, did not satisfy the philosophical taxonomer when it concerned generalizations and deeper principles, and in his practice, with regard to certain
technical aspects of classification, he was, in the eyes of orthodoxy, a criminal. Hence the noticeable heaviness of the Veneto investigation. Two colossal statues of Neptune and Mars at the top of these stairs were made by Jacopo Sansovino in 1554 - hence the name of the giant staircase. Smith (ed.), The St. Clair Papers: The Life and Services of Arthur St. Clair (2 toms,
Cincinnati, 1882); Jacob Burnet, Notes on the early settlement of the northwest territory (Cincinnati, 1847), written from a federalist point of view and therefore rather beneficial to St. Clair; C. E. Hence, as a very general principle of coloration, concealment in the natural conditions of existence, and the instincts that lead to concealment are very highly developed. Therefore, it is
likely that no factor had a greater impact than these wasps in shaping the protective instincts and habits of spiders. According to the Arabic geographer Yaquta, Persian scorpions were thrown into place when they were besieged by Anushirwan; hence their numbex to this day. The royal driving school was removed to Hanover in 1867. Therefore, initially in 1882 they were used
only by a part of the market belonging to members who voluntarily agreed to do business with each other only under those conditions. Now the frequency of movement, the average daily price volatility and the range of price changes are fundamental issues for society. Therefore, for practical purposes, we require several types of measurement of price changes and it is not
possible to weigh exactly what is different with regard to the importance. The mass becomes excessively sanguine or poorly succumbs to panic. Therefore, the law of error does not apply, and speculation from the public may volatile prices. Whereas it is clear that a thorough knowledge of the nature and structure of rock formations in petrol-based territories is of the greatest
importance for enabling the expert to choose favourable drilling sites; therefore, it is customary to pay attention to the nature and thickness of the layers perforated by the drill, so that a complete section can be prepared on the basis of the recorded data. The reason is that the heat generated at any given time in the edi- is proportional to the square force of the current passing
through it, and thus the rate at which the heat is therefore its temperature rises much faster than the current itself increases. Hence the consequence of fusion with Aphrodite, Artemis, Diana, Juno and Venus, and the action and reaction of one to another in myth and legend. Two years later, the U.S. Congress ancedated parts of Western Florida between the Pearl and Mississippi
rivers to Louisiana (hence the so-called Florida parishes in Louisiana) and between Pearl and Perdido to mississippi. Oepair € rrai, literally guardians or doctors, hence the worshippers of God), the monastic order among the Jews in Egypt, similar to the Essenes. 10, § 12) - hence its very rhetorical nature - from which Euseusz gives an extract about Esina; although this, in turn,
may constitute the fourth book of a large work titled (sarcastically, says Eusubius, H.E. Originally the goddess of nature (like Venus the goddess of the garden with which she was sometimes identified), she represented at first the hope of fruitful gardens and fields, and then abundant offspring, and finally prosperity to come and happiness in general, which is why it was invoked for
birthdays and weddings. Proponents of solar theory see Memnon as the son of dawn, who, although he may have disappeared from view for some time, could not be destroyed; hence the immortality given to him by Zeus. From their resin to adamantine shine and their transparency also represent a bit of a corner look; hence the name hornsilver. Hence, the number of independent
elements assigned to a planet or other body moving around the Sun is usually six. Hence he was on the worst terms with the king before the end of the year. Hence it is referred to as the Feast of Par Excellence (Heb. From here he went to Gotha (1528), resumed teaching, and enjoyed the friendship of Friedrich Myconius. in circumference, it is never more than five scythes (7 m.)
away from the city; hence its name, Panch-kos road. From here we find their share in Ammonites and Midianites (Judg. The entrance to the port, which is perfectly covered (hence its name), is through a narrow hole in the shore covered with palm trees. The Maxwells were prosecuted in Lockerbie and almost exterminated; hence Lockerbie Lick became the proverbial word,
meaning overwhelming failure. Atargatis, as fro?uovxos, wears the crown of the mural, is the ancestor of the royal house, founder of social and religious life, goddess of generation and fertility (hence the prevalence of phallic emblems) and inventor of useful devices. Huxley; hence its term Dromaeognathae for Crypturi. Hence, the gaseous atoms of hydrogen and oxygen could not
have parts. Finally, in the production of gaseous hydrobic acid from hydrogen and solid iodine H2 - 1 - 12 = HI + HI, so much energy is consumed in hydrogen decomposition iodine molecules and in the conversion of iodine to a gaseous state that heat that can allegedly be developed by combining hydrogen and iodine atoms is insufficient to offset expenditure and therefore the
final result is negative; Therefore, it is necessary in the formation of hydridic acid from its components to constantly apply heat. This compound can be considered as derived from methane CH 4 by replacing the hydrogen atom by the monovalent group CH 3, known as methyl; hence ethane can be called methylomethane. We received this substance from ethane by introducing a
group of meth y |; hence it can be called methylethane. Therefore, the positions occupied by nitro groups in two different nitrobrombenzoic acids must be symmetrical for the carboxyl group. In 1879, Hubner (Ann., 1 95, p. 4) proved the equivalence of the second pair, viz. Therefore, unless there is a radical introduction that has a particular attractive effect, the replacement should
take precedence in a previously unsathiled ring. According to Armstrong, anthracene behaves asymmetrically in relation to substitution, and therefore one side ring differs from the other; represents a molecule as consisting of one centric ring, the other medial and lateral ring is ethenoid. In the case of iodine compounds, iodine acid is likely to be formed, so the solution should be
reduced with sulphuric acid before precipitation with silver nitrate. You want data for items, however, it limits this method to narrow limits, and therefore an intermediate method is necessary. 88 Those differences do not disappear at a critical point and therefore critical volumes are not strictly additive. Therefore, within the narrow limits, the Koppa determinations were carried out
under convergent conditions and therefore any regularity presented by the critical volumes should be disclosed in certain volumes at boiling point. Mercury fumes, helium, argon and its collaborators (neon, krypton, &amp;c.) were found to be 1.67; therefore we conclude that these gases exist as monatomic molecules. Therefore, it can be concluded that this value is typical for
diatomaceous molecules. Take an example: 38 indu parts combine with 35.4 parts of chlorine; hence, if the chloride formula is InCl, INC1 2 or InC1 3, indu has atoms 38, 76 or 114. An example isthe H 2 S series = - 61°, CH 3 SH =21 °, (C 11 3) 2 S=41 °; in the first case, the molecular weight increases and the symmetry decreases and the boiling point is 82°; in the second case,
the molecular weight is increased again, but the molecule assumes a more symmetrical configuration, hence a relatively small increase of 20°. Since a /d is the actual correct volume of the molecule, it is therefore constant; (N2-1)/(N2+2)d is also a constant and is independent of all temperature, pressure and aggregation status. Since molecular refractions are independent of the
temperature and state of aggregation, it follows that molecular dispersions must also be independent of these conditions; therefore, quantitative measurements should indicate the chemical composition of the substance. Therefore, S can be replaced by (Mv) 3. The gods, as the giants admit, rule with beauty; hence Walhall's theme. The basic theme of the letter is the Unity of
Humanity in Christ, that is, the Unity and Divinity of Christ's Church. Hence, in transcriptions from foreign languages and in works on phonetics is represented by s or . DURRA (also written dourah, dhura, &amp;c.; Arabic for pearls, hence corn grain), grain grass, Sorghum vulgare, widely grown in tropical and semi-tropical countries, where grain, made into bread, is an important
article of the diet. Cesare, who renounced cardinality, was sent on a mission to France at the end of the year, carrying a divorce bull for the new King Louis XlI., in exchange for which he obtained the duchy of Valentinois (hence his title Duca Valentino) and the promise of material assistance in his plans to subjugate the feudal princes of Romagna; He married the Princess of
Navarre. Hence the scale is r: r,000,000 around. Hence the world will last for six thousand years of hardship and work; then will come a thousand years of sabbath rest for the people of God in the kingdom of the Messiah. Among the ore or wild tribes they have only one form; But the ingenuity of man has developed many inventions to increase his comfort; he has differentiated
and multiplied the characters and types of domestic animals for the same purpose, and hence the different breeds of horses, animals and dogs. Hence the double negotiations between him and Eugene IV. Hence we come to the conclusion that the Wills were written between 137 and 107. Hence, in fact, the fragment was preserved only by the original. Therefore, in Rome slavery
also found its place most smoothly, as long as this mission was in progress. As a result, a regular slave trade was established, which was based on a systematically prosecuted hunt for man and pointed to the whole pervert of the primitive institution, which was essentially associated with conquest. As a result, the abolition of the external slave trade tended to swallow the marking
of the middle. They had their own households and therefore stood out as casati. As these waste sites have been gradually brought under the plough, particularly in England and Scotland, visitation and linnet livelihoods have been reduced and thus its number has been subjected to a very visible diminutive across the UK According to Dr. Jakob Jakobsen, the name means voe
(waa) skollas, or cabin, occupied by men who came to attend a ling meeting, or an open-air law court that had gathered in the old days on an island in Loch of Tingwall (hence its name), about 3 m. 8, i0), and therefore only certain parts of Deuteronomy (or allied production) could be intended. Hence, a good herbarium is an indispensable part of a botanical museum or institution.
But in any scientific discussion, the term instinct must be used within narrower limits, and therefore it is necessary to define this term. Now the desire to become obvious and familiar, and thus the idea of creation, is coexisting with the unfathomable Indiquity, and the first manifestation of this original will is called the first Sephirah or emanation. Hence Wisdom, the second Sephirah,
and the beginning of development, when it came from the Holy Age (another name of the first Sephirah) exuded in male and female, for extended wisdom, and Intelligence, the third Sephirah, came from him, and thus were obtained man and woman, viz. Hence, the right is called the Pillar of Judgment, the left Pillar of Mercy, and the center of the Central Pillar. Hence the Crown,
the first Sephirah that combines Wisdom and Intelligence to form the first triad, is in itself denominated in the intellectual world. Therefore, nothing in the whole universe can be annihilated. Therefore, it is most closely allied with The Descij and is perfect and unchanging. Since these compounds are necessary for the life of plants, it becomes necessary to replace the amount taken
from the soil, and thus the need for nitrogen manure has arisen. Hence their name Agnoetae and their excommunicitation. Hence the relationship was named above one-many. These officers were usually chosen from more promising youths chosen by devshurme, a system of forced staffing fees: that is why so many statesmen of Turkey were of non-male origin. Hence, the vast
majority of people we are accustomed to thinking of as Turks are just by party, there are really descendants of Seljuks or Seljukian subjects who came from Persia, which possessed civilization or literary taste. But these views, of course, could not be published in the orders of the army, hence the discontent and opposition was to meet. Therefore, obedience was instinctive and the
initiative was hardly dreamed of. From these numbers it was not possible to achieve the high degree of individual performance required for the old line tactics, hence they were forced to adopt French methods of skirmishes and columns, but so far it is difficult to realize the increased density necessary to take the battle line to allow it to bear the long-term nervous load of the new
system of tactics Hence the extraordinary slowness of their maneuvers, not because the Austrian infantry were bad marchers, but because the preparation and circulation of orders was still far behind the French standard. It took Blucher time to get his troops out of the turmoil in which they were thrown out of the battle, and the Leipzig garrison and the troops left on the right bank
of the Elsters continued to resist - hence it was failed to start a direct chase, and the French, still more than 100,000 strong, marching fast, quickly gained enough distance to be reformed. Hence the long-standing detention, used by the army in the renewal of their equipment and so on, but eventually the young German party, led by Blucher and the main fighters of the army, won,
and on January 1, 1814, silesian troops (50,000) began the passage of the Rhine into Kaub. As a result, less than 80,000 remained available for the eastern and northeastern borders. Therefore, when on the battlefield the changing course of events left his antagonists mentally exhausted, he was able to face them with the power of will, which was neither bound nor broken. It is
clear that the ancient name, at least, still possessed strong ownership of the site and was therefore inherited by the new city. Some, however, are classical poets whom he knows only from an anthology; hence he was misled, quoting from Euripides and other verses that were written by Jewish forgers. Allenlightenment tended to lead to the truths of Christianity, and therefore
knowledge of any kind was not bad for his handmaid. It used to be visited by whaling vessels (hence its name). Hence from the 10th to the 12th century there was a great relationship with Iceland and Greenland on the part of the English, Sweden and Denmark, but at the end of the XIII century there was some change, as a result of the emigration to the south of the Inuit and the
extinction of European civilization in Greenland. Histones are a class of albumin soluble in water and acids, but essentially basic; hence they are precipitated by alkali. There are decstrorotators, and the specific rotation is numerically larger than albumin; therefore, proteids are, in general, decstrorotators. When their country was first attacked, they fled into the forests, and the
Spaniards, approaching their huts, whose doors are built too low, assumed they were dwarves: hence the name. This important war, the preservation and outcome of which greatly increased the prestige of British weapons, had for its main object the freedom of the Peninsula of Spain and Portugal from napoleon's domination; and hence deri'ves its name, although it ended on the
land of France. That's why he wrote to Soult: If the English move to their position (which is believed to be Sahaguna) they will be lost. and hence an argument was drawn against the Relationship. In this battle Sigebert, king of ripuarians, was wounded in the knee and lame for the rest of his life - hence his name Claudus (Lame). Because the rock was very sticky and the surface
on which it was moving was often irregular, the movement was disrupted and variable; hence the sinuous and crooked look often assumed by banding. Therefore, it can be considered as a diagnosis of rocks that were vitreous when they consolidated. When the electric current flows around the circuit, there is no accumulation of electricity anywhere in the circuit, hence the current
force is the same everywhere, and we can imagine the current as analogous to the flow of inaccuracy fluid. Therefore, there can be no reverse polarization forces inside the liquid itself, such forces are limited to the surface of the electrodes. Therefore, experiments without membrane separation should be preferred and the apparatus may be considered effective when the majority
of the intervening solution under consideration remains intact in the composition. Therefore, it is likely that in cases where the transport number remains constant at 00000 0 0. Therefore, the absolute speeds of both ions can be determined and we can calculate the actual speed at which a certain ion moves through a given liquid under the action of a given potential gradient or
electromotor force. The number of unseeded molecules is then | - a, so that if V is the volume of the solution containing and gramming the dissolved substance, we get g= and p= (I - a)/V, hence x(l - a) V =yd/V2 and constant = k. Hence zinc can dissolve only if some more easily separated. From here we get the equation Ee = Le +Te (dE/dT) or E = L+T(dE/dT), as a special case
of the general thermodynamic equation of available energy. Hence, for an electrochemical zinc unit or 0.003388 grams, thermal evolution is 5.66 calories. Therefore, if we assumption that in Daniell's cell temperature factors are irrelevant in individual contacts, as well as in the cell as a whole, the sign of potential difference should be the same on the zinc surface as on the copper
surface. within three days, has a strong ammoniatic odor, which quickly disappears, and as a result of the loss of ammonia latex will not last more than a day unchanged; therefore, 3 % of the ammonia solution is added when it must be moved away from the place of collection. The four inner stamens are longer than the two outer stamens; stamens are therefore collectively
described as tetradynamous. He represented the anti-French-Prussian part of her council, and his goal was to bring about an Anglo-Austro-Russian alliance, which at that time was undoubtedly the proper system of Russia, hence the repeated attempts of Frederick the Great and Louis XV. Therefore, processes have been patented in which they are suspended in the rotating
drums between the anodes, rotating the drum causing continuous surface renewal and at the same time ensuring the burning effect. The air, after cooling on plateaus in winter, drifts, due to the higher density, in the lowlands; hence, in the lower Lena region, an exceptionally low temperature is achieved throughout the winter, and Verkhoyansk, at 67°N., is the pole of cold in the
Eastern Hemisphere. As a general rule, he was even considered a debtor for an amount; hence the inhabitants were jointly responsible, a state of affairs that was not suppressed until the time of Turgot, and even then not completely. From here there is water communication with Neckar, and therefore to the Rhine and to the interior of France. Therefore, column transposition
changes only the determinant character. Hence anAu = auk t a22a33... ann, where the cofactor is clearly an indicator obtained by the first and first row black-out. Hence we have the development of A = al1lAll +al2AI2 +al3A13+i¢ 1/2i¢1/2i¢,1/2 +ainAin, following the first-order elements and corresponding minors. Therefore, the product determinant has the main oblique
elements equal to A and the remaining elements have zero. Now the determinant is - {AIA11+A2A22+A3A33+2A2A3A23+2A3AIA31+2A1A2AI2{ = -Eata r-2EA r A 8 A rs in general, and hence by replacing {A 1V A n+ A 211 A22+i¢,1/21¢1/2i¢,1/2 +A71 Ann}2. For the second row we can take Ob - 1 - A, 1 1 +A2, and the adjacent determinant is the same; (1 +A2)x1 = (1-A 2)X 1 +
2AX2, (I +A 2)x 2 = - 2AX1 +(1 - A2)X2. Hence the production of J1 t appearances (21, Z2,... zn/ (y1, Y2,... y.n) = ? Hence, if A does not disappear x 1 = x 2 =... each of them is satisfied with the common value system; hence, the equation R =0 is derived from this conjecture, and the disappearance of R expresses the condition that equations can be met by a common system of
values assigned to variables. If al, a2, ... a, n be roots f=0, (1, R2, -Ai roots 0=0, the condition that some roots 0 = 0 can qq cause f to disappear is clearly R s, 5 = f (01)f (N2) 1¢,1/2 1¢,1/2;f (Nn) = 0; so that Rf,g5 is the result of f and expressed as a function of the roots, is the degree m in each root 13, and degree n in each root a, as well as the symmetrical function of both roots a
and roots 1 3; hence, expressed in terms of coefficients, is homogeneous and degree n in coefficients f, and homogeneous and degree m in coefficients 4.. The resulting is the product of root differences mn, is the degree of mn in the roots, and therefore has a mass of mn in form coefficients; (aj) Hence, the value system also causes disappearance in this case; dx and by
symmetry aj and Fz also disappear. Hence, in all of them there are So if we have a third equation and we replace each value system in it in turn and create a product of the mn expressions formulated in this way, we get a function that disappeatrs, if any value system, common to the first two equations, also performs the third. Therefore, this product is required to result in three
equations. Therefore, the resultant is expressed in terms of coefficients of three equations, and since it is also perceived as a degree mn in the coefficient of the third equation, by symmetry must be respectively the degree e.g. and pm in the coefficients of the first and second equations. This is the result of k polynomiates of each degree m-I and thus contains the coefficients of
each form to the degree (m-I)'-1; hence the total degrees in the coefficients of forms k is, by adding, k (m - 1) k - 1; in addition, it can be shown that the weight of each resulting term is constant and equal to m(m-I) - (Salmon, l.c. p. l0o). af Expression under root conditions.-Because x + y y = mf, if we take cx any root x 3, y1, ofand substitute in mf we need to get, y 1 C) zaZ1 i¢,1/2;
hence the result and f is, apart from numerical factors, y,y2... Y. Hence the expression recorded above. Hence, if f(ai, a 2, ... a n) _ (?i?2%7?3i¢1/2i¢,1/21¢,1/2), 1 2 3 +,01(X2A3...) +02(X1X3.i¢1/2.) +IA'(XIX2.1¢,1/2.) +... Hence we derive specific cases 1 1 expulsion ' =exp(d1 -2d2+5d3 - ...); exp/ld 1 = exp(Ad1lp2d2 +/13d3 - ...), and we can express D. To work with D2 on (213) (214)
(15), we have D (2)f = (13) (214) (15) + (213) (213) (15), D c1 2)f = (122) (213) (15) +(213) (213) (14) (14) ) + (212) (214) (14) and thus D2f = (214) (15) (13) +(213) (15) (15) 14) +(213) (212) (15) +(213)2(14) +(214) (212) (14). - If in identity 1 (1 +anx = 1+aiox+aoly+a20x 2 +allxy+a02y 2 +..., multiply each page by (I -i¢, 1/2-P.x+vy), on the right becomes 1 +(aio+1.1 ") x +(ol+ v) y
+...+(a p4+/ 1a P-1,4+ va Pr4-1) xPyq - - ...; hence any rational integral function of coefficients, say f (al °, aol, ...) =f exp(i¢, 1/2dlo+vdol)f d a P-1,4, dot = dapg Rule over exp will be used to mark, that i udio +vdo h is to be raised to different powers symbolically as in Taylor's briefcase. 1 1 Therefore it becomes necessary to have more than one set of umbrae, so that we can have
more than one symbolic representation of the same actual factors. Hence the condition is i+k+... Now D AXAKk=(n-k) Ak; Ai¢l/2 Ak=k A?1; Di¢1/2AAKk=(n-K) Ak+1;Dmi¢l/2 Ak=KAK; (n-k)Aka-inAk-1aAk=0;a_J(n-k)Ak+l Ak=0;kAk Ak =wJ; equations that are valid when X 1, X 2, 7¢1/2 1, 1¢1/22 have arbitrary values, and therefore when the values are
such that J =j, A k =aki¢,1/2 Hence °a-do +(n -1)71 (a2aa-+... it turns out that Di must be equal to p x g x for then t x (p x) 3 +, u (g X) 3, if px, gx be linear factors Hessian 64, cubic can be placed in the form of A(p x) 3 +i¢1/2(g) 3 and immediately resolved. f=0, :i notes that they become identical when replacing 0 for k, and -f for X; hence, if k1, k2, k 3 are the roots resolvent -21 2 =
(o + kif) (A + k 2f) (0 + k 3f); and now, if all the roots of f be different, so are those of resolvent, because the latter, and f, have virtually the same discriminant; therefore, each of the three factors, -21 2, must be ideal squares and at the square root 1 t = -' (1)i¢ 1/2x4; and it can be shown that 0, x, 1P are three conjugates of square factors t above. Transformation to normal form,
through cubic and square solution, therefore provides a quart solution. If (Xi¢,1/2) is a transformation module by which a2 is reduced to 3 normal forms, it becomes (X/2) 4 and i, (Ap) 3 j; Hence? Hence the cubic solution, R 2j=(S-mand a) (S- m 2 a) (S - m3a), in which m 1 m2, m 3 are invariants. Now, of course, the third transvectant f, expressed in this form, with cubic pxgxrx is
zero, and therefore from the properties of kowakanta j we must have j = pxgxrx; showing that linear forms are linear factors j. Hence, with ax identity (pq) = px (aq) -gx (ap), we get (pet' = (aq) 5px - 5px - 5 (ap) (aq) 4 pxg x - (ap) 5th, the required canonical form. Therefore, excluding ao, we can, in the notation of division, save the basic solutions of the equation, viz. In order to
obtain seminvari ants, we would write down terms (w; 0, n) associated with the literal coefficient; if we now work with 52 we get a linear function (in - I; 8, n) of products for which literal coefficients disappear must meet (w-I; 0, n) linear equations; hence (w; 8, n)-(w-I, 0, n) these coefficients can be assumed arbitrarily, and the number of linearly independent solutions 52=0, a given
degree and weight, is exactly (w; 8, n) - (w - I; 0, n). 1-az2.... 1-azn' From here (w; 0, n) - (w - I; 0, n) is given by the aez' factor in a fraction of 1-of-1 -a.1-az. The latter forms are calculated by | - with 24 | -of 4; hence the quarterly conveyor generator must be z4 z4 z7 1-z 2.1 -with 3.1z 4 1-z 2.1-s 4 1-22.1-z3.1-z4" and the general form of fixers is (4 K+ 1 3A+1 2i¢1/2). Again, if O is
uneven = 20 + |, the conditionis 1 a2 ... cr 241 li(a 1 +a 2)ll(cr 1 +a 2 +(73)... li(a 1 +a 2 +...+ac) =0; and the degree, in quantities a, is 20+1 + (42+1) +(21) i¢,1/2...-F(254)i¢ 1/21) =22°-1= 2e-1-1 Hence the lowest fixative weight is 2 0 - 1 -1 when 0 is &gt;2. Therefore, in both cases, the contraguction and cogrility are identical, and countervariants are contained in covariance.
Therefore, in the above general form of ujednwica we can assume exponents h 1, h2, h3,... ki, k2, From here, the beautiful road, immortalized by Goethe in Dichtung and Wahrheit, leads through the Verges to Pfalzburg. determining the true relationship between the length of the pendulum and the time of its oscillation; inventing the theory of evolutes; discovery, hence that the
cycloid is its own evolute, and is strictly isochronous; the ingenious, though practically inoperable idea of correcting a circular pendulum error by applying cycloid cheeks to clocks - all of which were included in this remarkable treaty. The gouth is easily combined with almost all other metals; hence, and because of its use for the extraction (for example) of silver, its alchemic name
saturnus. Strong sulphuric acid dissolves it to form an acid salt Pb(HS04)2 which is hydrolysed by the addition of water, with normal sulphate precipitated; hence the milk exposed by vitriol oil samples during dilution. Hence the disastrous consequences that are to result from the taboo breach; the perpetrator pushed his hand into the divine fire that yells and engulfs him on the spot
(Frazer, The Golden Bough, and. Hence the rise of the holy books among the majority of the Eastern peoples. They therefore strongly opposed any reform ideas; to begin making changes to the Church's system would be a tacit admission that Luther had some kind of show of reason on his side. Hence, they deliberately refuse to engage in the casuisty of the old-fashioned sort.
cauda, hence couart or coward. The term, with its formal adjective and nouns derived from formality and formalism, is therefore contemptuously used for what is superficial, unessential, hypocritical: chap. xxiii. It is distinguished by the fact that one of the five blue or yellow cannons (rear) in the form of a helmet; hence the English name monkshood. Therefore, it is not very easy to
establish experimentally the right magnetic force between the poles. The South Pole would be called opposite the conventional direction of the line; It follows that a very small magnetic needle, if placed in a field, would tend to position itself along or tangectually to the force line passing through its center, which can be roughly verified if the compass is placed among the sips on the
cardboard. Where the lines are congested, as in the vicinity of the poles, the force is greater (or the field is stronger) than where they are more widely separated; therefore, the strength of the field at any point can be precisely determined by reference to the concentration of the line. Hence I=M/v=ml/v =m/ a, v is the volume and cross-section area. Therefore, if the induction
per square centimeter at any point is indicated by B, then in the empty space B is numerically equal to H; in addition, in isotropic media both have the same direction and for these reasons it is often said that in the empty space (and other non-magnetic substances) B and H are identical. (35) Du Bois has shown that _when dimensional ratio in (= length/diameter) exceeds t00, Nm
2 = constant = 45, and therefore for long thin bars N = 45/ m2. Therefore, the difficulty of obtaining a significant permanent magnetization to a short thick rod did not have much coercive force. In the case of small bodies other than spheres, the coefficient will be different, but its sign will always be negative for diamagnetic substances and positive for others; hence the forces acting
on each small organ will be in the same directions as in the case of the Directing Couple sphere acting on an elongated organ. Therefore, any equipment, such as a galvanometer, can be partially shielded from magnetic sweep by enclosing it in an iron housing. Therefore, regardless of the position of the body, if the field is settled into three components parallel to 1 For all except
ferromagnetic substances, the coefficient is reasonably equal to See W. The distinguishing feature of the first is the steepness of its outlines; this means that induction increases rapidly in relation to the magnetic force, and therefore the metal is well suited for the construction of dynamo magnets. For simplicity of calculation, the clear length of each bar between the yoke is 12,56
(=47r) centimeters, while the coil surrounding the standard rod contains 100 revolutions; therefore, the magnetizing force caused by the current of n amps will be C.G.S. there can always be spasm, or always expansion, or first one and then the other. The force acting on the magnetism of one face and calling this face to the other, will be less than B to 27r1, part of the total force
due to the first face itself; hence the force per unit of surface area with which the walls will press against each other, if in contact is P = (B-27r1)I = 27rT 2 +HI = (B 2 -H 2) =/81r. the pressure is 0'00141 grm., the mass at any absolute temperature 0 is by charles right about 141 X 2 739 = 0 3 849/9 grm.; hence the susceptibility to a unit volume at 760 mm. Hence, in the execution of
the cycle there is a loss of energy corresponding to what has been called the loss of hysteresis. According to the best determinations, the elm value does not exceed 1.8X Io', and T is the order lo 15 seconds, the period of light vibration; therefore, the OM/M must always be less than 109 H and therefore the strongest fields which have yet reached experimentally, which do not fall
significantly within lo %, cannot change the magnetic moment M by as much as ten thousandths of a part. In this regard, it can be concluded that, although the susceptibility of all known diamagnetic (except bism and antimony) is temperature-independent, paramagnetic differ inversely as absolute temperature, according to Curie law. In particular, it concluded that the calculated
speed at which it transmits electromagnetic interference was equal to the observed speed of light; in this way it led to the belief that not only was its medium and ether one and the same, but also the light itself was an electromagnetic phenomenon. (Reader details are directed to Watase (11) and Lankester and Bourne (5).) The structure of the central eyes of scorpion and spiders,
as well as Limulus is fundamentally different from the lateral eyes held by two layers of cells (hence called dilostichous) under the lens, separated from each other by a membrane (figs. Hence the name of the subclass deliming tri-lobed, a condition also implemented in the Xiphosurous Spiders. with other books and without any distinctions, they were practically employed by the
Greek fathers in the same way as other books; Therefore, Origen, Clement, and others often cite them as scripture, divine scripture, inspired, and so on. Thus, two well-defined views prevailed, to which a third was added, according to which books, although not to be placed in the same rank as the canonical writings of the Hebrew collection, but had value for moral applications
and were read in congregations, - and hence they were called ecclesiastical - the designation for the first time in Rufinus (ob. Hence Christ is represented as coming to destroy the work of a woman (Clem. Hence Zahn gives the date 90-100 at the latest; Dobschiitz, as loo -110; and Harnack, as 110 -130. It was still a royal residence during the reign of her three sons, and therefore
the first rapid development of the upper city can be alluded to in the Xl century. Hence, although canongate village grew up next to David |.'s Abbey, and Edinburgh was important enough to be considered one of the four main townspeople as a judge in all commercial matters, even as late as 1450, when it first became a walled city, it did not extend beyond the upper part of the
ridge that would swerve east of the castle. But it is only to say again that Erigena is more neoplatonist than scholastic. Therefore, Cousin suggested in this regard a triple chronological division - at the beginning of absolute subordination of the philosophy of theology, then the period of their alliance, and finally the beginning of their separation. Hence the power with which a master
of faith like Anselm insists on subjugation of reason. And therefore, at a much later date (at the beginning of the XllII century) his name was invoked to cover the pantheistic heresies of Amalrich of Ben. Therefore, it can be said that universalists are in units, constituting their essential reality (and this is part of Erigen's system that the created but creative Word, nature's second
division, should move on to the third stage of created and non-creation things); or rather, perhaps, we should say that individuals exist within their universal womb. Hence, satraps rebellions have become frequent since the middle of the 5th century; under artaxes Il. Hence his cautious, dilatory tactics: encouraging Italian propagandists who were few and far between, dissuading
German propagandists who were numerous. Hence the Council of Constance to dethrone the three rival popes; hence the Basel Council to reassure the Hussites and promote the next anti-Moslem league. Hence the October diploma (Oct. As the main source, he followed the story of Myron's prose with Priene, an untrustworthy writer, probably from the 2nd century P.C. therefore,
many of his stories should be considered fanful, although we cannot accurately distinguish between true and fictional. Therefore, we can separate the numbers from the common unit and replace 31b - 1-51b -7 Ib +2 Ib by (3+5-7+2) Ib, and the additions and de-write-offs are then performed using the addition table. Therefore, the subsequent others are successively smaller
multiples of L, but still integral multiples, so that the series of quotients k, s, t,. Hence u is the largest common measure of p and g. Hence the change can be made in 3.4.5 ways. Hence formula (2) also refers to the nth power of A-I. Therefore, it applies to all positive integral powers n. (ii.) From (21) of 43 (iv.) we can see that | R r | is less than m[r+[]xr+1 if X is positive, or than 1 m
[r+1] x m+1 (I+x)- m | if X is negative; and that's why you can show that if 1 x | &amp; 1,1 R r | can be as small as we like, taking r big enough so that we can make the S r approximate as close as we like (r+x)-1n. Then a+a = as = a, therefore, numeric factors and indexes are not required. If A = ZaE, then, by definition, 1A = EajE, and thus AI(B + C) = AIB + AIC. Hence, many
structures, which are obvious to the eye, and serve as distinguishing signs of separate species, are really alone in value or use, but are necessary concomitant less obvious and even completely obscure characteristics, which are the real signs on which the choice works. Therefore, there is no need to assume the fixation of direct adaptors. Hence, whatever else can happen, there
must be a system of dark rings formed, just like from one small hole. Hence the spherical mirror 3 ft. Therefore, in order to resolve a double line whose components have indexes A and ct--S and ., it is necessary that t exceed the value given by the following equation: - t= X/S / 8. Therefore, if there is a dispersed beam width and make the angle through which the front wave is
rotated, ado = dX or dispersion = /a .. Hence the wide range of additional apparatus (usually a telescope) with high magnifying power. Hence, as CA grows, viz. Hence, there are many doubts about its exact meaning. Hence the references to Kos in the Hebrew prophets (Jer. Hence the Greek names, Abii, Hippemolgi, Hamaxobii. Similar movements from the same regions also
appear to have penetrated Iran itself; hence the similarity between the costumes and daggers of some classes of warriors on persepolis sculptures and those shown on the Vase of The Balls of Both. Similarly, it can be shown that each internal reflection introduces an additional deviation of 7r - 2r; therefore, if the radius is reflected n times, the total deviation will be D = 2(i - r) +n
(7r - 2r). Because the p value for water is about, it follows that n must be at least unity for the rainbow to be formed; of course, there is no theoretical limit to the value of n, so rainbows of higher classes are possible. The third and fourth arcs are located between the observer and the sun, and therefore, to be viewed, the observer must face the sun. The smaller the drops, the
greater the distance; Hence, it is that false arches are usually observed only near the peaks of the arches, where the drops are smaller than at a lower height. The tin ingot is clearly crystalline; hence the characteristic crackling noise, or crying tin, which the tin bar gives during bending. But it is expensive, and tin dishes must be very heavy to provide them with sufficient stability of
the mold; therefore, it is commonly used only as a protective coating for utensils made mainly of copper or iron. Hence all tin crystals stored in the laboratory give with water a cloudy solution that contains stannics in addition to stannous chloride. Hence the semi-dramatic nature of the style. Hence the great dispute over the application to our Lady of the epithet OE0TOKOS.
Therefore, priests take off their ceremonial attire before leaving the sanctuary, so as not to sanctivalize people with their robes (Ezek. Hence, unless a later Pheison is assumed, Ephorus' statement must be regarded as non-historical. Therefore, he publicly celebrated Mass, banned the proclamation of sermons against Catholicism, and showed exceptional favor to the renegades
of the Establishment. Therefore, it can be considered that it ends where Rio Cojedes, which flows down the elevated valley where Barquisimeto stands, after rising on its western slopes flows east into the Orinoco basin. Hence, although they were only a few miles apart, everyone was ignorant of bohemian campaign 1866 — ? It was considered a sulfur compound, hence its name
sulfur ether; This idea turned out to be wrong by Valentine Rose in about 1800. Therefore, the study of our subject must cover not only diseases specific to man and higher animals, but also diseases of the lowest forms of animal life, life must be equally noteworthy. However, until further evidence emerges to support this synchronous theory of structure, it would be unreasonable
to consider it sufficiently established to constitute a useful working hypothesis; therefore, for the time being, we must accept the claim that the cell represents the final tissue unit. They assumed that it was accompanied by a peculiar thickening of the enamel arterial wall, usually tunica intima, and thus called the alleged diseased condition arterio-capilitre fibrosis, and gave the
fibrous substance the name hyaline-fibroid. Outings are poured in inflammatory conditions, while none of the truly drip-like outings are of inflammatory origin; and hence the class of edimages, as defined above, can be rejected from the category of fluids that we are currently considering. Therefore, an elementary arc divided by a time element is the rate at which the speed of the
movement point changes, or in other words, the speed in the hodography is the acceleration in orbit. Xaas, stone, and Tepeiv, for cutting; from here Aaroyia, quarry) from Syracuse, too ft. However, it cannot be defended at the back: hence Dionysus's success against the Carthages. Hence, the next generation had to pass away before The Germans found themselves at the level,
in the scientific investigation, of France and England. Hence, the description of the progress of medicine in Western Europe and America can be taken as a whole, without this separate treatment, nation by nation, which in the history of earlier times was necessary. These figures point to the fact that London is essentially a mart, and is neither, nor is it an especial outlet for, a large
manufacturing center; imports therefore far exceed exports. Hence King Mercian had to be the ruler of London. Hence the impression that the real Zulu are much larger north of Limpopo than ever. Hence many attempts have been made to do without stop-cocks altogether. Therefore, suppose that the crystals immediately after their formation are in absolute contact with each
other at all times, and then, in the case of Class Il., such contact will be maintained with cooling, while in the case of Class |. Therefore, tin and lead, although very malleable, are small plastic. Hence, 1000At is an elongation in millimeters per meter long per kilogram. Therefore, the variability of the pressure space in any direction or pressure gradient is the force determined per
unit volume in that direction. Therefore, in each infinitely large part of the fluid, the circulation is zero around each small curve of the plane passing through the vortex line; and consequently the circulation around each curve drawn on the surface of the swirl filament is zero. His family home was probably Saudi; hence Eridu (good city) and yours (city) were built on Semitic territory,
and their population could be contained in the semitic elements of the first. Hence the sudden demise of Assyria when drained from its fighting population in the age of Assur-bani-pal. Dampf, steam), and thus moisture. As a verb, the word means suppress or check; therefore, vibrations or oscillations are those that have been reduced or stopped, rather than letting them die
naturally; Piano shock absorbers are small pieces of felted wood that fall on the strings and stop their vibrations when the keys can rise; and throttle of the chimney or chimney, limiting immersion, reduces the rate of combustion. Hence the prophet's prophecy of a certain future arising from the present and organically connected with it. Therefore, in order to harmonize such
difficulties with faith in god's righteousness, she had to take into account the role of such empires in god's counsels, rise up; the duration and fall of each turn, until finally the reign of the world passed into the hands of Israel, or the final judgment came. - xc. Hence, these chapters are earlier than 166 B.C. Cvi chapters. Therefore, we will not be surprised that these two tendencies
are fully represented in primitive Christianity, and, even more strange as it would seem, that the Apocalyptic New Testament has found a more ready interrogation amid the stress and storm of the 1st century than the prophetic side of Christianity, and that the kind of precursor on the side of declared asceticism appealed more easily to primitive Christianity than to the One who
came eating and drinking , considering both worlds to be good and divine. The mustache or inflorescence, according to the above views explained, although in fact the terminal, is bent to the side; hence it seems to be lateral and opposite to the leaf. 5, 2 and 3) is produced; therefore, you should make every effort to collect them and burn them. Originally from Apamea, Syria and a
disciple of Panaetius, he spent many years on the journey and research in Spain (especially Gades), Africa, Italy, Gaul, Liguria, Sicily and the East Adriatic coast after his death. When he settled as a teacher in Rhodes (hence his surname Rhodian), his fame attracted many scholars; alongside Panaetius he did most, writing and personal inexperist to spread stoicism in the Roman
world, and became well known to many leading men such as Marius, Rutilius Rufus, Pompeii and Cicero. It is therefore not only a general word for the prince or sovereign, but also a common word for the feudal superior, and in particular the feudal tenant having directly the king, the baron (g.v.), hence the kingdom's peer, a member of the House of Lords, formed of temporal lords
and spiritual lords; this is the main modern custom. He prepared cyanhydrin glucose and fructose, to the relevant oxidous acids from which the hydroxy groups have been divided by reduction; glucose was found to have given normal heptyl acid and fructose methylbutyloetic acid; hence glucose is aldehyde alcohol, CH 2 OH (CH OH) 4 CHO, while fructose is ketone alcohol CH 2
OH (CH OH) 3 CO. It follows that optical acid formulas derived from two pentoses with the configuration given above will be CO2H - 0 - CO2H CO 2 H + 0 - CO2H, and that as a consequence only one of the acids will be optically active. It can be shown that d-galactose is CH 2 (OH) + - + - COH, and therefore d-talose is CH 2 (OH) + - + + COH. Therefore, in the latest projects for
large factories it was proposed that as much normal juice as can be extracted only through double crushing, be treated independently, and megass be then soused with twice as much water as is the juice left in it; after which, after undergoing a third crushing, it will bring degraded juice, which will also be treated alone. Where soil grains are quite free of each other, smaller grains
tend to fill the space between larger ones; therefore, it can be concluded that in clay the amount of pores will be less than in thicker sands. The space between parts of such substances is too large to admit to capillary action; therefore, water transported to the surface of the soil must not pass further upwards, except for slow evaporation through the cysticating layer. Organisms do
not do their job in soils lacking air; therefore, the process is checked in soils registered in water. Lime also helps in the decomposition of organic matter or caries in the soil and promotes nitrification; hence it is of great value after green manuring or where the land contains a lot of caries with the addition of bulky manure, such as holding a dung yard. The foster fraternity seems to
be unknown to the Franks and Anglo-Saxons, the nations where medieval guilds first appear; and hence Dr Pappenheim's conclusions, if any, apply only to Denmark or Scandinavia. Therefore, they should not be confused with the old merchant, which originally consisted of both merchants and craftsmen, and had a whole monopoly on city trade. In some cities, all crafts have thus
been combined into a single fraternity; in this case, the body that governed the entire commercial monopoly of the municipality and therefore resembled the old golden merchant was recreated. Creates a colorless, transparent diamond, just like an Icelandic spar; angles are almost equal to right angles, 73° 30", so that the crystals look like cubes: hence the name of cubic saltpetre.
Therefore, only in exceptional circumstances is it possible to use a large class of widespread ores, carrying from lo to 35 percent. At temperature due to chloride in any proportion of water and highly concentrated solutions, of course, boil at high temperatures; provide a convenient medium for maintaining high temperatures. The oxide solution in chloride has silk dissolving
properties and is therefore used to remove this fiber from the wool. From carbon dioxide and ammonia can not occur exhaustion, but from minerals constitutednetemo supply is limited, because the soil can not afford an unspecified amount of them; hence the main care of the farmer, and the function of manure, is to restore the soil of those minerals that each crop finds, by
analyzing its ashes, to take in its growth. STEARIC ACID, n-octedocylic acid CH 3 (CH 2) 16 CO 2 H, organic acid found as glyceric stearin, mixed with palmitin and olefin, in most tallows (hence its name, from Gr. The smoother we make the pulley, the more almost performs the amount of useful work that the scale is able to do the approach ro feet pounds, and if we take into
account the work done before the friction of the pulley , we can say that the work done by the decreasing weight is ro foot pounds, and so when the weight is in an elevated position we have at our disposal laying about feet pounds more energy than when it is in the lower position. Hence the huge effect of cranmer's recovery in the last scene. Hence early empiricism makes ethics
simply a bill of pleasure (hedonism). Hence, of course, he has a moral argument in reserve. Hence there are tendencies even in Plato to build the ideal world in sharp contrast to the real world - to a half-permeated or half-tamed world of matter. Therefore, both polyp and jellyfish forms for classification, and a given species, genus or other sonomic category can be defined by polyp
or jellyfish characters or by both combined. Therefore, it is necessary to diver guishbetweenfirst,zooids, FIG. Hence, in the colony of gymnoblastic hydroids, the oldest polyp of any system, that is, the main stem or branch, is the highest polyp; Il ?a ' FIG. The polyp can then create a second bud, which becomes the starting point of the new system, the beginning, that is, the new
branch; and even a third bud, starting another system, can be produced from the same polyp. Hence calyptoblastea colonies can be com plexly branched, and bud ding can be biserial by out, uniserial throughout, or partially one, partially different. Therefore, it is convenient to consider the morphology of jellyfish from these two aspects. Under the umbrella invariably shows the
velum as internally winding the back or rim in its margin, in a circle .with tentacles; hence jellyfish of this subclass are referred to as craspedote. Sensory cells first form a distributed system of diffuse sensory cells, as in polyp, developed mainly on the manurium, (i) the margin of the umbrella, where they form a sensory ciliary epithelium comprising nerve centers; secondly, sensory
cells are concentrated to form specific sensory organs, always on the margins of the umbrella, hence often referred to as marginal bodies. In Hydromedusae, the sensory organs are always exposed to the margins of the umbrella (hence gymnophthalmata), while in Scyphomedusae they are covered with flaps of umbrella margin (hence Steganophthalmata). In many
Leptomedusae otocysts are very small, inconspicuous and completely embedded in tissues; from here they can be easily overlooked in poorly preserved material, and perhaps they occur in many cases, where :: r the simplest condition of otocyst is a freely projecting club, so-called (figs. Hence the gonads are found on the manubrium in Anthomedusae in general; on the basis of a
manubrium, or under gastral pouches, or in both situations (Octorchidae), or under radial channels, in Trachomedusae; under gas bags or radial ducts, in Narcomedusae. Hence, a beginner jellyfish is very clearly a typical phenomenon in development, a series of phylogenetic events completely displaced in an ontogenetic time sequence. Hence alternating is the type of
metagenesis determined. Trachylinae, on the other hand, are primarily oceanic forms, and do not have a polyp-stage, and therefore usually have no changes in their life cycle. Therefore, Trachylinae are referred to as hipogenetic jellyfish to compare them with metagenetic Leptolinae. Hence, only the genus Hydra can be considered to truly represent the order of Eleutheroblastea.
Therefore, the systematic arrangements that follow should be considered to be purely temporary. Hence, the main axis of the future jellyfish corresponds not to the longitudinal axis of the plan, but to the transverse axis. Therefore, the recess of the air bag is equivalent to a sub-aumenous cavity in which no manubrium is formed, and pores or a non-movable opening would form the
margin of the umbrella. Siphons have been compared to an individual jellyfish manubrium, or to polyps, and are therefore sometimes referred to as gastrozoids. Hence, Huxley's view is not as different from that of other authors as it seems at first glance. The coastline then sweeps south-east to the finer head of Flamborough Head, beyond which is the watering site of Bridlington.
iiXrt; hence the name Hylozoists), which is also a universal support of things. Experience prohibits the exclusion of our organic activity for natural causes, as well as excluding intelligence from deliberate (zwecktdtigen) causes; hence experience forbids us to define the basic force or the first reason for the creation of living creatures. Hence the practice, immediately after Nikaei I.,
superadding exile by the emperor to the synodal Hence came the ' jurisdiction of the ordinary in non-glidering, for the peace of the soul of the dead. Therefore, even in countries where the Roman Church is such as Belgium, Italy, the Catholic states of Germany and the cantons of Switzerland, most of the Latin republics of America and the province of Quebec, and fortiori, where
this Church is not established, there is currently no discipline over the laity, except for the penitential, and there is no jurisdiction exercised in civil matters, with the exception of possibly matrimonial questions of the princes (of which there was no example in the case of the reigning Prince of Monaco). Delphi, which was formerly an important fortress for the protection of ancient
locks on the small River Delphi (hence its name), has benefited greatly from the construction of the Ems (Eems) shipcanal connecting it with Groningen, and has a good port with a significant trade in timber imports. In 105, Caepio suffered a devastating defeat to Cimbri in Arausio (Orange) over the Rhéne, which was considered a punishment for sacrilege; hence the proverb of
Aurum Tolosanum habet, an act with disastrous consequences. The presence of too much sugar in the solution in the juice of the cell inhibits the activity of chloroplasts; need to be removed. All soils that are physically dry are also physiologically dry; therefore, only physiological dryness or soil moisture must be taken into account in ecology. Whereas, therefore, in any
cosmopolitan treatment of vegetation, it is necessary to take account of groups of plant communities from the point of view of the climatic or geographical region in which they occur; and it is actually consistently performed by Schimper. Hygrophytes.Living, like these plants, under medium conditions with regard to soil, moisture and climate, do not show signs that are clearly
xenophobic or hydrophysics. Hence, such plants are often referred to as mesophites. Again, acidic caries is not formed in limestone soils; and therefore are not expected to find plants characteristic of acid peat or caries on limestone soils. All organs performing the same function and exhibiting similar adaptations shall be considered analogous or homoplastic, irrespective of their
morphological nature; hence, organs are sometimes both homologous and analogous, sometimes only analogous. Factors in Evo/ution. Evolution in race consists in gradual differentiation in the unit; therefore, the reasons for evolution and differentiation must be the same. Territorial divisions and subdivisions often survive the conditions that led to their origin; hence, the study of
political geography is allied with history as closely as the study of physical geography is allied with geology and for the same reason. Symptoms of nerve poisoning are caused by carbolic acid (or its salts), which circulate in the blood after all the sulphates in the blood have been in the formation of sulfide-carbolats (therefore, when administering carbolic acid, urine should often be
tested for the presence of free sulphates; as long as they occur in the urine, they are present in the blood and there is no danger). Red bloodthirsty discs are invariably oval discs, with a central nucleus that causes slight swelling; hence they are oval and shoe-induch. d) complex destructive: if A is true, B is true; if C is true, D is true; but B and D are not true; Therefore, A and C are
not true. Hence, such imperatives tend to shrink in optatives. Hence the formation of Midrash, an exposition, of darash to examine a scripture passage. (= five nautical miles) per hour; hence the joint use of the node as the equivalent of a nautical mile. Sulphur deposits are often formed by the decomposition of hydrogen sulfide, when exposed to the atmosphere: hence natural
sulphur waters, especially hot springs, easily deposit sulphur. Hence, it turns out that beetles can have their own place on the surface of the earth. Therefore, it is impossible to create a satisfactory linear series. 18) have a simplernal process just mentioned, capable of moving and with mesosternal cavities, beetles are thus able to jump into the air, hence their popular name click-
beetles or skip-jacks. So intensely aristocratic (hence his nickname 6 AoXoiSopos, the one who rails on people) was his temperament that he refused to perform the royal-hieratic office of 1 3avLAeus, who was hereditary in his family, and introduced him to his brother. Like Alexander in the last period of his reign, Nicholas considered himself the supreme guardian of the
European order and was always on guard to oppose the revolution in all its forms. Therefore, he was generally in strained relations with France, especially in the days of Louis Philip, who became king not by the grace of God, but by the will of the people. Therefore, losses in one quarter must be offset by profits in another - a process that the law, concerning only profits, makes
very difficult. With the exception of hard rock, the upper width of the cut, and therefore the amount of material to be dug, quickly increases with depth; therefore, if the cut exceeds a certain depth, which varies depending on the specific circumstances, it may be more economical, instead of forming the sides on the slope on which the material on which they are composed, they will
stand to be almost vertical and support the soil with a support wall, or to the opening of the tunnel. At this point, wagon trains similarly designed for different places will arrive from other lines, and therefore it will be necessary to collect together with all trains all wagons that travel to the same place. Therefore, in A, lorries from a, b, ¢ and d must be sorted not only according to the
fact that they must travel along A B, C or A D, but also must be directed to trains in station order along these lines. Therefore, the study of the mountain ranges of the continent is, for proper concern about its physical conditions and characteristics, as important as the study of its range and position in relation to the equator and poles, as well as the configuration of its coasts. The
cable cable is practically insulated, because the condensers in the bridge have a very high resistance; therefore, no significant current ever falls into or off the line. Therefore, by inserting a break-and-make key in the battery circuit, coil or dynamo, uniform noise or noise in the phone can be cut into periods of long and short sounds that can be made to obtain Morse alphabet
signals. Therefore, when the coil at one fixed station was in action, it generated high-frequency alternating currents, which were propagated through an air gap between ordinary telegraph wires and metal surfaces attached to one terminal of the secondary induction coil and transported along the usual telegraph wires between the station and the moving train. Therefore, oscillation
detection devices in the antenna are only very sensitive forms of ammeter and voltmeter. In one of these ways, oscillations can be created or stopped with pleasure in the radiating antenna, and thus a group of electric waves thrown at will. As a result, the following device was developed by Lieutenant Solari and officers of the Italian Navy. From here you can see that the difference
between the different forms of so-called wireless telegraphy spark systems is not too great. The huge number of current microphone contacts causes very strong electrical waving and thus loud sound. Below this apennine catchment area is too close to the sea on this side to allow large streams to form. Hence the rivers that flow in the opposite direction to the Adriatic and Taranto
Bay have much longer courses, although they all attend the nature of mountain streams, rushing down with great violence in winter and after storms, but decreasing in the summer to stingy streams that hold winding and slow course through the great plains of Puglia. But Christian bias will surely make theologians who borrow the doctrine of the Absolute interpret it in the Christian
sense; hence we can consider it an accident that even Augustine did not accurately put the argument in shape. Meditations were written, it is obvious how the opportunity offered - in the middle of public business, and on the eve of the battles on which the fate of the empire depended - hence their fragmented appearance, but hence also much of their practical value and even their
charm. Later, however, this part, instead of forming a bundle of folds inside, was carefully folded and transferred on the left shoulder, and over time these folds were neatly arranged in several thicknesses resembling planks, tabulae, hence called contabulatio (Plate, fig. Therefore, as soon as he took office, he sent an already selected army to go against the Romans in the north.
North.
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